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Candidate must enter hi_s / her
Question Booklet Serial No.

(10 Digits) in the OMR Answer
Sheet.
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answers in their own ‘words as far
as practicable.
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This question booklet i divided into

two sections — Section-A and

Section-B,
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TS = A/ SECTION - A

T e g W 7oa§;$‘ﬂ@3rm$‘mwﬁm%qwﬁé Rt & e wat &1
mmﬂ:}wﬂﬁﬁmaﬁ omvﬂa'wf%?ﬁ?ﬂaﬁlﬁﬁ?aswﬁmaﬁ?é‘r

35 x1=35

uestion Nos. 1 :
Q S to 70 have four options, out of which only one is correct, You have to

k . _ : :
mark your selected Ophon,. on _rhe OMR-Sheet. Answer any 35 questions. 35x1=235
1. SERR g e

() CO, o ® H, _. |

(C)  CH,4 | D) T Y g

Biogas contains o | |

(A) . CO, R B H,

(C), CH, (D) Allof these

2. ifgT-37eR TR e | gl g ?

(A)  ERRH - o (B)  OTECRRREANE

(€ UPEHE D) ST
" In which stage does crossing-over take place ? | |

(A) = Leptotene o (B)  Cytokinesis
(CL Pachytene (D)  Diakinesis

3.  UodlodRo 4 frge! Siw gidl & 7-

(A) HIV&E (B S UTH
(C) eEH : (D). ﬁo—m El
PCR is used to detect ‘ |

(A, HIV - (B) T.B.

(C)  Cholera - (D)  Cancer

— — — f—
—— ——— T ——
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Waﬁﬁﬁwaﬁﬁm@qﬁﬁwaﬁw%rﬂﬂwﬁm%
W FR () A

() R o @

Every living cell of plant can give rise to the whole plant. This property jg
known as | |
| | (B) Somaclonal-

(A},  Cloning
(C)  Totipotency (D)  Allof these

mﬁﬁﬁﬁﬁwﬁqﬁw&@ww% ?

(A) (B) 2n

C) 3n ) (a) IR () I

What is the ploidy level of chromosomes in endosperm of angiospermic plant ?
B 2n |
D) both (A) and (C)

(% S (D)
ﬁawﬁfqﬁmﬁrwwmﬁ% ﬁﬁrﬂ??ﬁTGﬂﬁT%

@) ﬁﬁm?ﬁm . - (B) - AT S
© @I @A D) iR BEee
When offspring is formed by single parent, it-is caJJed:“as _
~{A)  Sexual reproduction - B (B),  Asexual reﬁroduction
(€}  Both (A) and (B) - (D) Intelrnal-ﬁ.ertilization
T g TR W TEIT It & 7
M 21 g =) :_;3'
©) a4 - D) 46

What is t .
he number of chromosomes present in human gametes 7
. es

A 2
) 4q B) 23

1 - (D) 46. -
Elg}.H% _ -
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8. f#qf¥#3%?ﬁmﬂlimanﬂﬁmmT?ﬁ%‘?
(A T (B) I
(C) %@}F{m o | (D) ffre

Which of the foﬂowing is not a vira.l diéease ?

(A)  Mumps . B

Influenza
(C)  Diphtheria ' (D)  Measles
9. e % # wqwer ¥ winfag @ ¥ o

(A)  TYHEE! qIe . (B) FEP UH

(C) H"HI . (D)  PTE(eh Gt
Which of the following is not included in animal husbandry ?
(A) Bee-keeping. o | (B) Poultry fa'r_miﬁg
(C)  Fish farming o (D)  Organic farming

o, Frfian  freen s AR 3§ 5

(A) T U¥ER (B - o Bo FEE
(C) RHT e | (D) T Hig
‘Who among the following is not related with microbiology ?
(A.) Louis Pasteur ' | (B) J.D. Watson
(C}  Stephan Hales e (D)  Robert Koch
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1.  oAwrei fped g sar ¥ 2

.ﬁ,
(A)  TH-SHRE H ™ ﬁmmﬁzqﬁ
(C)  HR-3RGIT & oy T i
Anticodons are found in
(A) m-RNA ' (B). t-RNA
(C) ~RNA _ (D) None of these
12. et 7 whiaika fear |
(A)  FEer T (B} e @ fam
© (A) 3R (B) AT | (D) TH R 6l
Mendel proposed o ' ' '
(A) Law of linkage ' - (B , Law of inheritance
(C)  Both (A) and (B) ~ (D)  None of these
13, TUEERT & fagia #t % 3 @ § 7 _ :
(A)  wrfer w7 fm (B) T vERA W g
© TR EgEIHE T D) Qe
Law of segregation is also known as’ . :
(A) Law of dominance - - (B} Law of independent assortment
(C) Law of purity of gametes (D)  None of these
14. Tt wenfa 3 fmfor st wecoqol e |
(&) wfcrfar N B SEReEw
(@ foerm (D) e fafen
E;hich of the fql&xfing factors is important in the formation of new species ?
) Competition :
B Mut
© ( J/ utation

Isolation . s o
_ a_ho.n, (D). Continuous variation

[ 1.1'=9 ]'. H
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15, Pred @ @ Sond on ¥ 2

(A) ST B)  Avehr
(©)  (A) R (B) 3 | D) srfger
Which of the following is/arc inscctivorous plaﬁt[s) ?
(A)  Drosera (B)  Nepenthes
(C) - Both (A) and (B) (D)  Hydrilla
16. = o | $iF vl wof € 2
(a) | B) W
() (A) R (B) IA : (D) T
Out of the folloﬁng-which one is hermaphrodite organism ?
(A) Hen : (B) Snake
(CV” Both (A) and (B) - (D) Earthworm
17. FaRem = d A w|me 2 | |
W dmm . @ e
(C) TWeseT - : (D) U SR W
Chlorella is a type of | | o '
(A) . Algae o !9}- - Bacteria
(C)  Protozoa ' (D) Single cell protein
18, ‘G-o SeHH ¥ FRT wEe e
(A) U™ - - B) U
© M - (D) W
'Cry-gene' prevents which crop from bollworm ?
(A) = Cotton - (B} Tea
(C)  Mango (D)  Wheat
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19.

20.

- 21,

b @ g A AT FE

a T 3R wEeR
o R a7

Purinc basecs of DNA arc
(A)  Adenine and Cytosine
(C)  Adenine and Guanine

SR rmFRU A TA S ?
(a) ST ERT
© @ ¥R @)

Cancer is caused by
(A)  Bacteria
() Both (A) and (B)

QT W g & ?

(A)  ATE T
©  (4) AR (B) QT

Which one of the following is possible in

(A) Asexual reproduction
(C) . Both (A) and (B)

(B)

(D)

(BL

(D)

(B)

D)

(B

(D)

(B)

(D)

T @ g A

Cytosine and Thymine

None of these

T | ®IE Rl

Oncogenes

_None of these

TR T

T W ®E @

micropropagation ?

Bl

(D)

(B)

(D)

Sexual reproduction

None of these

‘Endonuclease

Polymerase.
e




e

23.

UL I H G W Y el @

A)  TERT S (B)  WIEAT HI
(C) wRRgfos o =t (D) (A) &K (B) g1 =T
In National Park, protection is provided to
(A)  Flora " (B) Fauna
(C)  Ecosystem (D) Both (A} and (B)
24.  Tgilgs Seqche e e ¥ o
(A)  IEESH (B)  ¥EER
©) R | D) A W
Secondary productivity is related ._to - | ’
(A) Producers ' (B) Herbivores
(C}  Carnivores (D)  None of these -
5. UNRIESRH A T e ¥ | |
(A) o g W (B) R R @ F 100°C F T
) frel o @ @ 70°C ™ o) FEARE A
Pasteurization is heating of ' o
(A) milk only | (B) - any quuid above 100°C
(C)  any liquid at 70°C’ " (D)’ none of these
26. . TRATTHT gt &
(4) TE-RRA B e
(C) ﬁﬁﬂﬁﬂ D) wE-wHE
The wall of pollen grain is
(A)  Single layered (B} Double layered
(C)  Triple layered (D) Multi-layereq
; [ 119 ) H [(A)-9009-Hgs Page 9'0f 24 T e—
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{Ci (A) afn {13) L
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©« Hath (A} and (13)
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(C) o .80
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-
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(
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.Pﬁlﬂ.ll 1n ™o

Yy o

sopor b

Qeamavh

Liver

E. colt

Hind 1 1

E.eals

fline L L1

WA s

T [ A A

Vestigial crgan

Nane of these

FHEZYUE A
3 vr} T ot "y
X l" _{? .* 3' :-{- T

kndangereq Species
None of these
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34.

frgms 41 61w fprjrre thras I

" e {1y ”""‘*' # )
Whinh 01 fhe Tilnwsing He s S0 aspurthpes

Al T L Wrdimghrm
i) Sy A KLl thueus

hf::f‘:ﬂ:n?:ﬂthmm?ﬂt? H

A gy s

! yhem (14} @M
Which one i hydrophytic plsnt 2

M Trapa iR Opuntia
() Dalbergia {th Acucic
woh sttt wrdl sl &

@A) FIm R ' a5 s
©  sizwm A Dy FFAH
Sertoli eells are found in

(A) TesUs (B} Urerus
(€} Ovary Dy Liver
¥ (9om) A T F) Se §

(A) A4~ XX B 44 = XY
©) 46Xy D 46+ XX
Number of chramosomes in hwnan being (male) is

(A) A4 + XX B 44+ Xy
(C) 40 + XY ) 46 + XX

1119 | H [(A)-9009-Tpg Page 11 of 24




35.
(B) qfgem et
(A) 378
() IJW 7o L)y
Rhino sanctuary is ]OCﬂth in V\!hiC]l state ?
(A) Assam (B)  West Bengal
(C)  Uttar Pradesh (D)  Bihar
36 HRUAU & uehfafed o urar S € |
(A) - EReiiE ud g B) UM Td A
© wEeiE o e (D) . = T e
Pyrimidines present 1n RNA are - .
(A) Cytosine and Thymine (B) . Adenine and Guanine
(C) - Cytosine and Uracil o (D)  Thymine and Uracil
37. et GASH el 1 39anT fhae ot Tt glar & 2
() fewdfcar | B) UGEH
(C) ZHERES (D) 2T 9
Triple antigen vaccine is not used for |
(A) Diphtheria (B) Pertusis
{C!/ Typhoid " (D) Tetanus
38. 7 A A WRISE 79 7@ & 2 |
()t B)  FERIGARIEET
¢ _
Which of the following is not a greenhouse gas ?
(A) Methane o B -
(C) Co, (B)  Chlorofluorocarbon
—— _ (D) Nitfogen
‘\__. Page 12 of 24
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39,

40,

41.

42,

wT U 3w wlag 3

(A)  Tefedl % fag @ At ¥ oo

© ' % e my  wferer & fan

Kanha National Park is famous for

(A) Birds (B) Tigers

(C)  Rhinoceros (D) Crocodiles

=1 | w9 aRR Sae w1 € 2

(a) =W, g 3R 3w (B) s, TR R
© =, T IR IR (D) UM, FOT AR TR
Which of the following is the correct food chain ?

(A)  Grass, Wheat and Mango (B) Goat, Cow and Grass
(G}~ Grass, Goat and Lion (D]' Grass, Fish and Goat
feeraians &

(A) R + T AT I 5 (B) YR +HEhe
(€) RIS T §9F + B . (D) ¥ | HIg TR

Nucleoside is | |
(AL~” Sugar + a nitrogenous base (B)  Sugar + Phosphate
(C) Nitrogenous base + Phosphate (D}  None of these

fte frmfor = Fed €

) TeeREE (B) WAIHIEATH
€ @RWAEH (D) ¥ | FHIS &
The process of formation of gametes is called

(A)/ Gametogenesis (B)  Cytokinesis
(C) = Sporogenesis " (D) None of these

[ 119 ] H [(A)-9009-Hps) Page 13 of 24




3.

44.

45.

¥ 2
- &yl b !
e Hige #4 yeferd B . T -
g sl e .
A o) S R
(C) SHiq & i‘lﬁ?ﬂ
X L7
What docs operon model represen B) Gene expression
(A) Gene s_vnthcsis . D Gene function
(C) Gene regulation (D)
P A @ e Qe @ S €7
(A) IIAE (B) :C]
o TR ) FH @
Thalamus is edible part in which of the following ? -
(A) Annona (B) Apple
(C)  Orange (D)  All of these
e ey o @ ot aTTeivTes. Te € 2 | ,
() e | B) wRREES
(C) (A) 3R (B) THI o TEE T
DNA is genetic material of | '
(A)  TMV B B .
() Both (A) and (B} acteriophage
' o (D] " None of these

Bidirectional

None Rf these




47. e d A B9 T Sfow @' R Y 2
() e (B)  aRTeTT RO
© awer | (D) FREHST

Which of the following is not a biofertilizer |
(A)  Azotobacter ' (B) . Bacillus thuringiensis
(C)  Azolla : (D)~ Clostridium

48, mmmwwﬁﬁ?ﬂ%mm%?

Ay = (B ®

© @ _ (D) T
Tuberculosis is transmitted by _

(A)  water (B) Air

(C) Insect | ' (D) Contact

40, S Rusex srpgerm aRRerfr 3w Frafor s ¥ 7

W s©& . @ W&
) - wem - . (D) I
Bio-reactors in optimal conditions produce |
(A) Product T . {B) | Organism
- (C)  Medium | {D} - All of these
I i T
50. M T @ 9 R g /@ GENE A YOS S9 T & )
() Feerie (B) TRitieew
(C) WEHE BN - D) T S
Which one forms endosperm after fusion with male gamecte ?
(A)  Oospores (B)  Antipodals
(C)  Synergids {Dr” Secondary nucleus

L ——— e
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51.

92.

53.

7 < T Fe § )
qmsﬂaa@,mﬁaﬁ?ﬁs}%wmaﬁméﬂ%lE'HETZ'W$

A) uuefad B) SR

) IwRas o) T @ i |
. : enomenon 1s

One gene pair hides the cffect of another gene pair. This ph

{M . Epistasis (B) Dominance

lC} Mutation ' (D) None of thesc

SHEHR SREAT § T W A 4 8RS @ w A devEnd SR Figh 4
Sy €, 3W W FEd & 2

) b= (B) -8 HISH
€ T-wRN (D) WA HEH

A scquence of three bases on tRNA which binds to mRNA codon is

(A)  Triplet (B) Non-sense codon
{C) - Anticodon (D) Termination codon

mmﬁmﬂmmwm% FIEFE R
(A) TS

€ fasmg (D) - Tfiey

The group of Wuchererig bancrop Which caygeg fil

e Haria in human being is
(C) Virus "



55.

56.

' 57.

S8.

%%ﬁqﬁw@m%

(A)  Tfemy |
(B)  FHa ® Y
€  Hewr .
| | (D) @ 3TqegE
An exception of Mendel's law is
_(A) Dominance ' - (B) Puritylof gamete
!E:J_/Llnkage . , (D). - Independent assortment
4 8 o 9 TEART MW 2 |
(A)  THEEE . _ B) &
(©) =S - | (D) Towfer
Which of the foliowing is a sexually tfansmittcld disease .?
(4)/* Typhoid ) (B)  Cholera
(C)  Malaria (D)  Syphilis

foret et H sfisrEter @ T €2

(A) . SRE®HF - - (B Fﬁa} |
(C) IR (o) wTHEE
Aril is edible in which of the following fruits ?
(A)  Myristica, - (B Litchi
(C) Annona ) _ (D)  All of these
SO, UHUT T IS & _ |

(A) ST | (B) Fﬂ'a‘ﬁ_

©  waw | (D) ¥ 4§ wft
Mdicator of §0,, pollution is

) Algae . (B} Lichen

© Fungj - (D) All of these
\\\_

| H




60.

61.

62.

= T @ Tt TR

(A)

) e D @R e A
Honey is made by

(A) Male honeybee o (B) Queen honeybee
(cL” Worker honeybee _ (D)  Both (A) a_nd (B)
Rrrifera & -t st it o B ¥ 2

(A) ' B) TE

() (A) AT (B)IAT (D) TFATEd
Which disease is found in hen ? | i

(A)  Cholera _ | ' (B) = Smut

(C) Both (A) and (B) | D) Ranikhet
Teelt TS ST T 3T TR gt S WA | ST ST @ 2
) sty | | ) B) SR

© fomp | T

- The flour of Idli and Dosa is made by the use of which microbe ?

(A)  Bacteria . _ (B)  Lactobacillus
(C) ' Virus | @J/ © Yeast
TR fepa® wre fepar Siam € 2

A we (B) W W

Agarose is €Xtracted from
Maize PO
[q (B) Sea weeds

Cycas |
N9 TR (D) Noneofthese
; «-gn()qu .
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63.

64.

- 65.

66.

—-_’__’_”———"—’-1-1738
, a7 A1-99_Q9 o)
) 11? i H A

(4)  FEEH T HiH

(C) I T HHE

Operon model was proposed by

(A) Watson and Crick
[Qp< Jacob and Monad

() wTEH

-(C).%ﬁ?ﬁﬁ

Menstrual cycle occurs in*

(A)  Human’

(C) Chimpanzee

e foar o wrer s & 2
(A) aﬁﬁ?ﬂ' H

(© (AR (B) A

Binary fission occurs in
(A Amoeba
(C) Both (A) and {B}

(B)"

(D)

(B)

(D)

(B)

(D)

- (B)
(D)

(a) 64 >
© 8 "
Inlﬁ DNA molecule, the cytosine is 18%,
@A) 64 )
c) 85

(]?’}/ 32

- None of them
Ao
o wit o

Monkey |
- All of these

Wm?ﬁmr-ﬁ-

Paramecium

None of these

Sy o] W 18% ¥ A TR a1 whwr g g 0

then the Percentage of adenine will be

Page 19 of 24
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68.

69.

70.

; ?
it udan e i 3 for fam A €

- (B) rARE AT
(A) el A
H
() ugd (D)
Widal test is done to confirm
(A)  Malaria (B)  Typhoid
(C) AIDS (E)l/ Cancer
v = A e v W SAHA HRA § 2
(A) B-ﬁ[ﬁm (B) T_aﬁﬁqm‘[ :
() Fifuferaet S (D) TR HIRTH
HIV attacks on which of the following cells ?
Ay  B-cell (B) Tecell
(C)  Epithelial cell (D) T-helper cell
TH wer forss i e seferan g €, 3% wed €
(A)  TeR B &
(€} Qo - 5
The substances to which an immune response is produced, are called
(A)  Allergens (B Vacein » are calle
(C) Antibodies es
AR . . [DJ . Antigens
T % HRoT e e g § —
b\l ﬁ'i?lfq:{
o B) R
€ ) 3% () 3w
Chemipg rgleased dyc ¢ D) T 9 % =
A)  Histag ©allergy js
mine

€ o




@UT - ¥ / SECTION - B

Y IWg H¥T / Short Answer Type Questions

mml#%ﬁ?mé‘rﬁwﬁmm%m%fm%%qzm

10 X2=20

Question No
s. 1 to 20 are Shorr An.swer Type. Answer any 10 questtons Each question

carrie
SQmarks 10 x 2=20

1.  Uh Ows Hﬁﬁﬁg (H%‘{ﬁ%) T =y Ak o S 2

Draw a neat labelled diagram of a typical annbody

2. Gﬁa%ﬁﬁmmw%?wﬁwaﬁmﬁ@ﬁm%mww
ferstan fordt |

2

What is biodiversity hotspot ? Write down the names and specialities of two

such hotspots of India.

3. S RFAEIE 7

2

What is inbreeding ?

4. - eERheeX AU 0 SRR SIS | ,
Throw light on Klincfelter's sypdréme.

st F A & EO A o .

B Write réasons for success of Mendel,

o e X WITSOT & aReie w5t )

Defin€ Couphng and Repulsion.
F—

——
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A SRR % fag s R w3 =t ford o uels & TR um

fafyrse = =1 GO T

2

Name any lwo enzymcs required for DNA replication and mention one specific

function of cach of them.

e T § 7 T A ERT UieHl o S ¥ e e e 2

What is micropropagation ? What are the main advantages of producing plants

through this technique ?

9. W T JFABPEH & qUH HL 1 2
Describe transcription in brief.
2

10, AR (S =) w1 SRt feerr weqd i
.Explain Biopiracy in brief.

SAfferantaq w1 @ ?WW@WW@WW%H@WWﬁ! 2

11
What is Amoebiasis ? Name its causal organism and describe the symptoms of
this discasc,

12. QoI @ E 2 T ol o wed § auiT 5t ; 2
What are allergies ? Describe its Symptoms in brief, -

13. T & gl B ford / . )

Write the functions of blood,
14, 7TolEeT AT R € 2 TEF WrE! sy SU Y| |
. I 2
Whai is global warming ? Explain its effects. |
13. Gﬂ"@"ﬁoﬂ? TRTST ST |
. | 2

Throw light on G.M.0O.

[119 ] H A oo oa
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16.

Hﬁﬁmﬂ?ﬁw.wcw s Ud i g Fd

Draw a ncat and well labelled diagram of transversc scctlion of human ovary.

17.  WEAe Royp el e € 2

What is test-tube baby ?

18. TEwRE qiyt % uikfRafasd srper il gui wi
Describe the ecological adaptation: of xerophytic plants.
19. Fohied & GIRONHT &I qUH |

Describe the ill effects of alcohol.

20. IS HTRET W SRR S |

Comment on Innate immunity.

e I weA / Long Answer Type Questions

jﬁ#@?zz#%&h‘%ﬂ#?:ﬁ#a@#%ﬁ%:ﬁw%ﬁ
5%%?!3??3@%120%####%%@

3xXx5=15
@Jestion Nos. 21 to 26 are Long Answer Type Questions. Answer _ﬁny 3 questions. Each

guestion carries 5 marks. Give your answer in a'bout 120 words. 3x5=15
h1. Fd® GavH W UF ey fad ' | | .
Write an essay on tlissue culturé'.
22. Wﬁnﬁﬁﬁ&“ﬁmaﬂaﬂ?ﬁt )
Describe fertilization in flowering pl-anls.
Deseribe recombinant DNA technology in brief, :

=
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Wﬁmwﬁ%maﬁqqﬁ@%ﬁﬁuﬁﬁwaﬁﬂﬁl

24.
Describe three ecological pyramids with suitable examples.
25. _aaﬁwﬁﬁawéanﬁﬁﬂmﬁﬁﬁﬂﬁﬁﬁﬁﬁéwﬁl
o Discuss various methods of contraception for the population control.
26; R TEH FIE 2 o ) TS QR g st ward|

** What is pisciculture ? Mention its role in enrichment of our food;

[119 ] H [A)}9000-Hes] -
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